2Ap05

R=N-0"

[Cu(dmg).]
PPh,*
Gd,Cu,

[{Cu(dmg) (Hdmg)}{Gd(hfac),(CH;0H)}-1,

Gd,Cu, Nd,Cu,

NO" Gd

CF; CF3

F3C\(\(
CFSOiO\ !/EO F3

FBC’CO\G\//aC\[/%3 / \ CHy

ST g
“30* °\\° F e

F3C o—(sd3
/ Fac A CF,

>~H:F3 CH3

Gd,Cu,
Gd,Cu,

Ortep

Nd,Cu;, o7 VS T

Muhamad Sahlan

NO
d-f
[Cu(dmg),]- Gd(hfac),
Gd,Cu,
[Cu(dmg) {Gd(hfac),},(Ac0),1(Ph.P),
La, Nd, Eu
Gd,Cu,
(Gd,Cuy),
Yon I VS T
Cu Gd

Gd(0AC);

80

[o2]
o

Yot I 7 em’ K mol”!
S

20 —

Nd4Cun

|~DﬂmDUUDDE{{DDDDDUDDDT
0 1 | |

0 20 40 60
T /K

H F Nd,Cu,  Gd

500 Oe 6d,Cu,

80

100


bukka
2Ap05


Gd...Gd Gd...Cu

Zmol T
1.8 K 81 cm® K mol™ Zoor T
2J/k = -2.9 K
S =27/2 20 K
S=27/2 Gd...Cu
Cu-N-0-Gd
Nd4CU1 ZIT\O' 7-
(Gd,Cu,), o T VS T Gd,
Gd,0, Gd
hfac, MeOH, 0 Cu,
(CuNO), Gd...Cu NO-
(GdZCUZ)n }[m0|7-VS r
Kol 7— 7 K
S=12/2 Brillouin
S = 14/2 S=2/2
S=2/2
S =16/2
Gd...Cu Gd,Cu,
(CuNO), §=2/2 [Cu(Hdmg),]
Gd,0, S=14/2
5 I L B L B
:-) -
o i
O -
S i
20 |5 -
S i
" i 0000¢
g 2 00000000000 ® A
15 7 —
S R nenraneay i
S N R P
o [ & Msat(5=122) e ]
&4‘_ 10 _— 8 ok = = = __
g i 2t Brillouin (S = 12/2) | i
= B w2 40 -
9 Ic -
5 [ E 20 4]
: fiY. SR RIS PP B :
[4] 20 40 3 60 80
i H /10° Oe i
0 1 I 1 I 1 I 1 I 1
0 20 40 60 80 100
T/K
(Gd,Cu,), Ortep H F (Gd,Cuy)n  Zua 7 VS

T 500 Oe K S§=12/2 16/2





